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03 At b 6,000 6,490 A490
O JRAEE 2% L #AXH S
2 6,000,0002 6,000 6,490 A490
= 3,000 3,245 A245
Al 3,000 3,245 A245
A ogls 2 @A 29 1,000 0 1,000
Al 1,000 0 1,000
201 Yut2 HH| 1,000 0 1,000
Al 1,000 0 1,000
03 A2t 1,000 0 1,000
O &t 9= 2 BA2ZY 1,000,0002 1,000 0 1,000
Al 1,000 0 1,000
SAIA HLETY| 13,420 0 13,420
2 6,710 0 6,710
Al 6,710 0 6,710
301 YuHB A 13,420 0 13,420
3 6,710 0 6,710
Al 6,710 0 6,710
12 JIEt2 &2 13,420 0 13,420
O BAZQERN QIMEIE XY 13,420,0008! 3,420 0 13,420
2 6,710 0 6,710
Al 6,710 0 6,710
SO THSO 2a3 75,000 60,000 15,000
= 67,500 54,000 13,500
Al 3,750 3,000 750
2 3,750 3,000 750
301 AP LS 75,000 60,000 15,000
2 67,500 54,000 13,500
Al 3,750 3,000 750
3 3,750 3,000 750
12 JIEt2 &2 75,000 60,000 15,000
O HMelIHPHB0l 242
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2 67,500 54,000 13,500
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Al 6,000 0 6,000
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2 20,0008 200 600 2400
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HHSY A (2D 69,200 69,460 A260
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SIEETTEEE D 69,200 69,460 A260
201 YEr2 Y| 14,810 14,860 A50
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